P ——

R&R Replaces Toro GrandStand Mower Parts
pmﬁcfﬂ Mower with 36in Deck - Model 74534 & 79534

~g®™  WMotion Control

96

\'

93
92

all

129

122

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




Replaces Toro GrandStand Mower Parts
Mower with 36in Deck - Model 74534 & 79534
Motion Control

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity
Electronics, Gauges & Controls
50 R117-6225 117-6225 Cable Assy 2
Other Parts Available
3256-1,
3256-22,
92 R453023 3256-72, Washer - Flat 1/4 2
33094-00
93 R119-1886 119-1886 Shaft-Pivot 1
94 R119-1885 119-1885 Shaft-Pivot, Motion Control 1
01-188-0420,
22-11-AJD, .
95 R443102 32175, Nut - 1/4-20 Yellow Zinc 2
33024-00
96 R119-0222 119-0222 Grip - Foam 2
122 R117-6238-01 117-6238-01 Bracket-Clamp, Cable 1
123 R117-6204 117-6204 Control Arm - Pump 2
322-4,
124 R322-4 3290-115, Bolt - Hex HD 5/16-18 x 7/8 4
908018P
01-150-1400,
20-5-AD,
30-8880,
321-6,
125 RP1471-1 321-6 Bolt - Hex HD 1/4-20 x 1 2
3222-2,
513320,
Mar-97
126 R104-7201 104-7201 Locknut - 1/4-20 ESNA Flanged 2
104-8300,
127 R104-8300 104-8300, Locknut - 5/16-18 Flanged Y/Zinc 8
119-4041

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




P ——

R&R Replaces Toro GrandStand Mower Parts
p,oﬁcfﬁ Mower with 36in Deck - Model 74534 & 79534

~g®™  WMotion Control

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

01-150-1420,
01-178-0506,
20-24-AD,
20-24-AGD,
322-3,
48-9270,
513339,
908017P

128 R322-3 Bolt - Hex HD 5/16-18 x 3/4 2

129 R93-2279 93-2279 Clamp-Cable 2

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




